L’arrondissement (C)
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564

1,940

6,176

6,965

Arrondissez chaque nombre ci-dessous a la dizaine pres.

85 14
78 43

88 499
803 871
323 886
3,364 5,100
1,307 2,571
9,891 55,756
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10
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932

4,289

4,087

41,779
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L’arrondissement (C) Solutions

30
30

68
70

26
30

438
440

564
560

1,940
1,940

6,176
6,180

6,965
6,970

Arrondissez chaque nombre ci-dessous a la dizaine pres.

85 14
90 10

78 43

80 40

88 499
90 500
803 871
800 870
323 886
320 890
3,364 5,100
3,360 5,100
1,307 2,571
1.310 2,570
9,891 55,756
9,890 55.760

25
30

10
10

123
120

105
110

932
930

4,289
4.290

4,087
4,090

41,779
41,780
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